| N of reco track vs normalized x2 | | N of associated (recoToSim) tracks vs normalized x? N of associated (recoTosim) looper tracks vs normalized X
1%} F (%] F %] F [%]
x x < B4
[*] Q [=] o
g g s 8
1 ol 10 v
2 X ]
= — o
§
10°F 10 T 10
10°F
10°F 10°F
10F 10
o owof o
3 : L T s
4 L o o
O'TJ 2 4 6 8 10 12 14 16 18 20 0"0 2 12 14 16 18 20 : 6 18 20 O'D 8 10 12 14 16 18 20
track x2 track x2 track x2 track x?
—_— I ] v al 1tNewOLDI000time__RECO
N of reco track vs. DQM_VOOOl_ROOOOOOOOl_GIOb al mkFltOLD checkDet12 _RECO [erser
2 2 2
8 3 8
H0° ke H10°EE £
2 2
e E K g
10°E 10°F s
© 10
10°F 10°
-‘ 1} .
%
2 A o 107 b %
10 W I )
() o
5 AT
10
1
B SR 111111111 4111101000000 00000000100 oLV
= 00000 0 0 1 1 =
4 o
%\|\|\\nnmluumumuuHluu\uu\uu\|\u\|\|H|\|\|H|\|H|uuﬁ“ 1
0000 0
0
T
0.95 0.
~




	Contents
	Page 1


